
 fJzsekbk dk fBgNkok eoB ;pzXh wjhBk nr;s 2014 sfj;hb dcso v/ok pkpk BkBe,fibQk r[odk;g[o. 
   
bVh 
BzL 

t;h
ek 
BzL 

t;he/ dh fwsh s/ fe;w fgzv dk BK $ jZd p;Zs BzL fJzsek
b$ogN 
BzL 

fJzsekb$ogN doi 
eoB dh fwsh 

fJzsekb wBi{o 
eoB dh fwsh 

fJzsekb 
iwk  
j'D dh fwsh 

1 769 1^8^14$ nkV ofjB w'jb'tkbh$375 358 1^8^14 ^ ^ 

2 770 1^8^14$ nkV ofjB e'Nbh ;{os wZbh$415 382 2^8^14 ^ ^ 

3 771 1^8^14$ nkV ofjB m/moe/$472 376 2^8^14 ^ ^ 

4 772 1^8^14$ nkV ofjB jo{tkb$439 411 4^8^14 ^ ^ 

5 773 1^8^14$ nkV ofjB jo{tkb$439 412 4^8^14 ^ ^ 

6 774 1^8^14$ p?Bkwk okT{tkb$417 1431 10^8^14 20^8^14 28^8^14 

7 775 1^8^14$ p?Bkwk okT{tkb$417 1432 10^8^14 20^8^14 28^8^14 

8 776 1^8^14$ p?Bkwk ukektkbh$456 345 14^8^14 25^8^14 28^8^14 
9 777 1^8^14$ p?Bkwk jod'otkb$341 3607 2^8^14 13^8^14 28^8^14 

10 778 1^8^14$ p?Bkwk e'N w'bth$346 741 4^8^14 8^8^14 28^8^14 

11 779 1^8^14$ ofjB Bkwk e'mk$462 688 1^8^14 25^8^14 28^8^14 

12 780 1^8^14$ nkV ofjB Xowkpkd$488 438 1^8^14 ^ ^ 
13 781 1^8^14$ nkV ofjB gokuk,e'Nbh thoK$347 381 1^8^14 ^ ^ 
14 782 1^8^14$ p?Bkwk y'd/p/N$481 1294 26^8^14 15^9^14 30^9^14 
15 783 1^8^14$ nkV ofjB fBe';okJ/$367 348 1^8^14 ^ ^ 
16 784 4^8^14$ p?Bkwk NogZbk$344 1000 26^8^14 15^9^14 30^9^14 

17 785 4^8^14$ p?Bkwk Xowe'N ozXktk$477 157 11^8^14 16^9^14 30^9^14 

18 786 4^8^14$ p?Bkwk fPeko$421 2212 12^8^14 25^8^14 28^8^14 
19 787 4^8^14$ nkV ofjB ybhbg[o$451 393 4^8^14 ^ ^ 

20 788 4^8^14$ nkV ofjB I'VhnK ebK$ 466 399 4^8^14 ^ ^ 

21 789 4^8^14$ p?Bkwk jod'otkb$341 3612 4^8^14 4^8^14 28^8^14 
22 790 4^8^14$ nkV ofjB f;zxg[ok$486 382 6^8^14 ^ ^ 

23 791 4^8^14$ nkV ofjB ;kjg[oikiB$370 373 5^8^14 ^ ^ 

24 792 4^8^14$ nkV ofjB jo{tkb, I'VhnK 
y[od$446 

413 5^8^14 ^ ^ 

25 793 4^8^14$ ezBt/Pvhv dkDk wzvh v/ok pkpk 
BkBe 

bkb  beho nzdo  j?. ^ ^ 

26 794 4^8^14$ ezBt/Pvhv dkDk wzvh v/ok pkpk 
BkBe 

bkb  beho nzdo j?. ^ ^ 

27 795 4^8^14$ p?Bkwk gZbk Bzrb$471 657 11^8^14 16^9^14 30^9^14 
28 796 4^8^14$ nkV ofjB gZpkokbh$349 402 7^8^14 ^ ^ 

29 797 4^8^14$ nkV ofjB gZpkokbh$349 400 7^8^14 ^ ^ 

30 798 4^8^14$ ofjB Bkwk m/moe/$472 2394 11^8^14 16^9^14 30^9^14 
31 799 4^8^14$ p?Bkwk gzBtk$419 758 17^11^14 3^12^14 8^12^14 
32 800 4^8^14$ jZe w[osBh p? m/moe/$472 2393 11^8^14 16^9^14 30^9^14 
33 801 4^8^14$ p?Bkwk gzBtk$419 752 11^8^14 3^12^14 8$12^14 
34 802 5^8^14$ p?Bkwk e'mk$462 689 13^8^14 25^8^14 28^8^14 

35 803 5^8^14$ ofjB Bkwk pZb$469 345 19^8^14 9^9^14 30^9^14 

36 804 5^8^14$ p?Bkwk ihtB Bzrb$424 853 13^8^14 29^9^14 30^9^14 

37 805 5^8^14$ p?Bkwk ihtB Bzrb$424 854 13^8^14 29^9^14 30^9^14 

38 806 5^8^14$ spdhb wbehns GrtkBg[o$409 1239 12^8^14 3^10^14 31^10^14 
39 807 6^8^14$ p?Bkwk r[ouZe$492 1924 22^8^14 3^12^14 8^12^14 
40 808 6^8^14$ nkV ofjB ;kjg[oikiB$370 374 6^8^14 ^ ^ 
41 809 6^8^14$ ofjB Bkwk sbtzvh okwk$368 1613 11^8^14 27^8^14 28^8^14 
42 810 6^8^14$ nkV ofjB efmnkbk$369 387 6^8^14 ^ ^ 

43 811 6^8^14$ nkV ofjB efmnkbk$369 388 7^8^14 ^ ^ 

44 812 6^8^14$ nkV ofjB sko{tkbh$370 362 6^8^14 ^ ^ 

45 813 7^8^14$ p?Bkwk r[ouZe$492 1925 13^10^14 3^12^14 8^12^14 
46 814 7^8^14$ nkV ofjB GrskBk s[bhnK$437 400 7^8^14 ^ ^ 

47 815 7^8^14$ nkV ofjB jod'otkb$341 429 8^8^14 ^ ^ 

48 816 7^8^14$ nkV ofjB jod'otkb$341 430 8^8^14 ^ ^ 

49 817 7^8^14$ nkV ofjB e'jkbh$405 398 7^8^14 ^ ^ 

50 818 7^8^14$ p?Bkwk ;kjg[o r'okfJnk$433 6449 26^8^14 12^9^14 30^9^14 
51 819 7^8^14$ ofjB Bkwk ;kjg[oikiB$370 5777 22^8^14 29^8^14  30^9^14 
52 820 7^8^14$ p?Bkwk nmtkb$427 1083 18^8^14 3^10^14 31^10^14 
53 821 7^8^14$ p?Bkwk nmtkb$427 1084 18^8^14 3^10^14 31^10^14 



54 822 7^8^14$ spdhb wbehns npdkb$464 1268 14^8^14 22^9^14 30^9^14 
55 823 8^8^14$nkV ofjB gZvk$371 364 8^8^14 ^ ^ 
56 824 8^8^14$ p?Bkwk Peoh$454 678 13^8^14 25^8^14 28^8^14 

57 825 8^8^14$ spdhb wbehns fPeko$421 2213 12^8^14 25^8^14 28^8^14 

58 826 8^8^14$ spdhb wbehns fPeko$421 2214 12^8^14 25^8^14 28^8^14 

59 827 8^8^14$ nkV ofjB e'Nbh ;{os wZbh$415 391 9^8^14 ^ ^ 
60 828 12^8^14$ nkV ofjB pzp$376 370 12^8^14 ^ ^ 
61 829 12^8^14$ p?Bkwk t?o'e/$470 666 21^8^14 16^9^14 30^9^14 

62 830 12^8^14$ p?Bkwk frbktkbh$380 983 10^9^14 26^9^14 30^9^14 

63 831 12^8^14$ nkV ofjB dp[oih$431 382 12^8^14 ^ ^ 

64 832 12^8^14$ nkV ofjB pfjb'bg[o$457 428 12^8^14 ^ ^ 

65 833 12^8^14$ nkV ofjB GrtkBg[o$409 394 12^8^14 ^ ^ 

66 834 12^8^14$ nkV ofjB GrtkBg[o$409 393 12^8^14 ^ ^ 

67 835 12^8^14$ nkV ofjB GrtkBg[o$409 392 12^8^14 ^ ^ 

68 836 12^8^14$ nkV ofjB GrtkBg[o$409 395 12^8^14 ^ ^ 

69 837 12^8^14$ p?Bkwk ekjbktkbh$447 764 19^8^14 9^9^14 30^9^14 
70 838 12^8^14$ p?Bkwk Xowkpkd$488 832 1^9^14 30^9^14 30^9^14 

71 839 12^8^14$ p?Bkwk ekjbktkbh$447 763 19^8^14 9^9^14 30^9^14 

72 840 12^8^14$ p?Bkwk w{b'tkbh$380 1040 19^8^14 9^9^14 30^9^14 

73 841 12^8^14$ p?Bkwk w{b'tkbh$380 1041 19^8^14 9^9^14 30^9^14 

74 842 13^8^14$ nkV ofjB w/xk$483 379 14^8^14 ^ ^ 
75 843 13^8^14$ p?Bkwk e'mk$462 690 10^9^14 12^9^14 30^9^14 
76 844 13^8^14$ nkV ofjB ;fjikdk$484 380 14^8^14 ^ ^ 
77 845 13^8^14$ nkV ofjB I'VhnK ebK$466 411 14^8^14 ^ ^ 
78 846 13^8^14$ nkV ofjB I'VhnK y[od$446 388 14^8^14 ^ ^ 
79 847 13^8^14$ nkV ofjB y'd/p/N$481 382 13^8^14 ^ ^ 
80 848 13^8^14$ spdhb wbehns Y/;hnK$404 653 20^10^14 3^11^14 4^11^14 
81 849 13^8^14$ nkV ofjB w{b'tkbh$380 410 14^8^14 ^ ^ 

82 850 13^8^14$ nkV ofjB oki/e/$378 371 13^8^14 ^ ^ 

83 851 13^8^14$ nkV ofjB oki/e/$378 372 13^8^14 ^ ^ 

84 852 13^8^14$ nkV ofjB oki/e/$378 373 13^8^14 ^ ^ 

85 853 14^8^14$ nkV ofjB oZsk$465 369 14^8^14 ^ ^ 

86 854 14^8^14$ nkV ofjB d'b'tkb$414 392 14^8^14 ^ ^ 

87 855 14^8^14$ p?Bkwk r[DhnK$476 1355 21^8^14 10^9^14 30^9^14 

88 856 14^8^14$ p?Bkwk w{b'tkbh$380 1042 22^8^14 9^9^14 30^9^14 

89 857 14^8^14$ p?Bkwk oZsV SZsV$478 1233 21^8^14 16^9^14 30^9^14 

90 858 19^8^14$ nkV ofjB nmtkb$427 393 19^9^14 ^ ^ 

91 859 19^8^14$ nkV ofjB ojhwkpkd$432 410 25^8^14 ^ ^ 

92 860 19^8^14$ p?Bkwk okJ/uZe$406 1353 28^8^14 12^9^14 30^9^14 
93 861 19^8^14$ nkV ofjB m/moe/$472 395 20^8^14 ^ ^ 
94 862 19^8^14$ p?Bkwk Xowkpkd$488 833 11^9^14 30^9^14 30^9^14 
95 863 19^8^14$ nkV ofjB sbtzvh r'okfJnk$453 450 20^8^14 ^ ^ 

96 864 19^8^14$ nkV ofjB Bph Bro$430 390 19^8^14 ^ ^ 

97 865 19^8^14$ nkV ofjB nobh 
GzB,GrtkBg[o$409 

395,
394 

19^8^14,20^8^14 ^ ^ 

98 866 19^8^14$ p?Bkwk gZy'e/ v/ok pkpk 
BkBe$442 

2085 26^8^14 12^9^14 30^9^14 

99 867 19^8^14$ nkV ofjB ;kjg[oikiB$370 388 20^8^14 ^ ^ 

100 868 19^8^14$ nkV ofjB ;kjg[oikiB$370 389 20^8^14 ^ ^ 

101 869 19^8^14$ nkV ofjB gZpkokbh$349 414 21^8^14 ^ ^ 

102 870 19^8^14$ nkV ofjB okT{tkb$417 401 20^8^14 ^ ^ 
103 871 20^8^14$ spdhb wbehns gZpkokbh$349 1806 26^8^14 8^9^14 30^9^14 
104 872 20^8^14$ nkV ofjB d/jV$426 374 20^8^14 ^ ^ 

105 873 20^8^14$ nkV ofjB ojhwkpkd$432 404 21^8^14 ^ ^ 

106 874 20^8^14$ nkV ofjB jo{tkb$439 427 2^8^14 ^ ^ 

107 875 20^8^14$ ofjB Bkwk u?B/tkb$407 579 28^8^14 12^9^14 30^9^14 
108 876 20^8^14$ spdhb wbehns Y/;hnK$404 648 20^10^14 3^11^14 28^11^14 
109 877 20^8^14$ spdhb wbehns Y/;hnK$404 649 20^10^14 3^11^14 28^11^14 
110 878 20^8^14$ p?Bkwk m/moe/$472 2395 21^8^14 16^9^14 30^9^14 
111 879 20^8^14$ nkV ofjB ;fjikdk$484 390 21^8^14 ^ ^ 
112 880 20^8^14$ p?Bkwk okT{tkb$417 745 29^8^14 10^9^14 30^9^14 



113 881 21^8^14$ p?Bkwk ihtB Bzrb$ 855 29^8^14 10^9^14 30^9^14 

114 882 21^8^14$ p?Bkwk I'VhnK ebK$466 2816 22^8^14 9^9^14 30^9^14 

115 883 21^8^14$ spdhb wbehns jod'otkb$341 3610 23^8^14 8^9^14 30^9^14 

116 884 21^8^14$ spdhb wbehns gZpkokbh$349 1805 26^8^14 8^9^14 30^9^14 

117 885 21^8^14$ p?Bkwk fYbtK$416 745 28^8^14 27^9^14 30^9^14 

118 886 21^8^14$ nkV ofjB sbtzvh okwk$368 384 21^8^14 ^ ^ 

119 887 22^8^14$ nkV ofjB I'VhnK ebK$466 421 22^8^14 ^ ^ 

120 888 22^8^14$ nkV ofjB I'VhnK ebK$466 422 22^8^14 ^ ^ 

121 889 22^8^14$ nkV ofjB I'VhnK ebK$466 420 22^8^14 ^ ^ 

122 890 22^8^14$ p?Bkwk Y/;hnK$404 647 20^10^14 3^11^14 28^11^14 
123 891 22^8^14$ nkV ofjB wkb/tkb$350 406 22^8^14 ^ ^ 

124 892 22^8^14$ nkV ofjB ojhwkpkd$432 408 25^8^14 ^ ^ 

125 893 22^8^14$ nkV ofjB ojhwkpkd$432 409 25^8^14 ^ ^ 

126 894 22^8^14$ spdhb wbehns jod'otkb$341 3618 2^11^14 9^11^14 28^11^14 
127 895 22^8^14$ nkV ofjB jehwp/r$340 373 22^8^14 ^ ^ 

128 896 22^8^14$ nkV ofjB Peoh$454 453 22^8^14 ^ ^ 

129 897 22^8^14$ nkV ofjB NogZbk$344 421 27^8^14 ^ ^ 

130 898 22^8^14$ nkV ofjB jehwp/r$340 377 26^8^14 ^ ^ 

131 899 22^8^14$ nkV ofjB jehwp/r$340 379 26^8^14 ^ ^ 

132 900 22^8^14$ nkV ofjB Xowkpkd$488 372 22^8^14 ^ ^ 

133 901 22^8^14$ nkV ofjB jehwp/r$340 378 26^8^14 ^ ^ 

134 902 22^8^14$ spdhb wbehns sgkbk$455 624 5^9^14 22^9^14 30^9^14 
135 903 22^8^14$ spdhb wbehns Bph Bro$430 577 26^8^14 26^8^14 28^8^14 
136 904 22^8^14$ nkV ofjB gZpkokbh$349 418 24^8^14 ^ ^ 

137 905 22^8^14$ nkV ofjB e'mk$462 440 22^8^14 ^ ^ 

138 906 22^8^14$ p?Bkwk e'mk$462 691 10^9^14 22^9^14 30^9^14 
139 907 22^8^14$ nkV ofjB wkb/tkb$350 407 22^8^14 ^ ^ 

140 908 22^8^14$ nkV ofjB sgkbk$455 456 22^8^14 ^ ^ 

141 909 22^8^14$ nkV ofjB m/moe/$472 400 25^8^14 ^ ^ 

142 910 22^8^14$ nkV ofjB okT{tkb$417 403 22^8^14 ^ ^ 
143 911 25^8^14$ p?Bkwk Xko'tkbh$420 1313 12^9614 22^9^14 30^9^14 
144 912 25^8^14$ p?Bkwk r'bk Y'bk$473 898 26^9^14 16^10^14 31^10^14 
145 913 25^8^14$ ofjB Bkwk fBe';okJ/$367 1582 28^8^14 20^11^14 28^11^14 
146 914 25^8^14$ p?Bkwk e'N w'bth$346 743 2^9^14 11^9^14 30^9^14 
147 915 25^8^14$ spdhb wbehns gZpkokbh$349 1810 13^10^14 22^10^14 31^10^14 
148 916 25^8^14$ p?Bkwk wzrhnK$479 1089

$1 
20^9^14 16^10^14 31^10^14 

149 917 27^8^14$ ofjB Bkwk Xowkpkd$488 837 22^9^14 30^9^14 30^9^14 
150 918 27^8^14$ p?Bkwk w'jb'tkbh$375 1016 12^9^14 22^9^14 30^9^14 
151 919 27^8^14$ p?Bkwk npdkb$464 1069 10^9^14 4^11^14 28^11^14 
152 920 27^8^14$ p?Bkwk ;kXktkbh$441 513 26^8^14 9^9^14 30^9^14 
153 921 27^8^14$ p?Bkwk ;kXktkbh$441 514 26^8^14 9^9^14 30^9^14 
154 922 27^8^14$ p?Bkwk ;kjg[oikiB$370 5795 25^9^14 22^9^14 30^9^14 

155 923 27^8^14$ p?Bkwk e'mk$462 692 10^9^14 22^9^14 30^9^14 

156 924 27^8^14$ p?Bkwk e'mk$462 693 10^9^14 22^9^14 30^9^14 

157 925 27^8^14$ spdhb wbehns ;kjg[oikiB$370 5796 15^9^14 22^9^14 30^9^14 

158 926 27^8^14$ spdhb wbehns ;kjg[oikiB$370 5803 15^9^14 22^9^14 30^9^14 

159 927 29^8^14$ p?Bkwk frbktkbh$380 984 10^9^14 26^9^14 30^9^14 

160 928 29^8^14$ ofjB Bkwk sbtzvh okwk$368 `621 9^9^14 20^11^14 28^11^14 
161 929 29^8^14$ p?Bkwk ;kjg[oikiB$370 5797 15^9^14 22^9^14 30^9^14 

162 930 29^8^14$ p?Bkwk ihtB Bzrb$424 857 3^9^14 22^9^14 30^9^14 

163 931 29^8^14$ p?Bkwk Y/;hnK$404 652 20^10^14 3^11^14 28^11^14 
164 932 29^8^14$ p?Bkwk jod'otkb$341 3615 7^10^14 22^10^14 31^10^14 

165 933 29^8^14$ p?Bkwk jod'otkb$341 3618 7^10^14 22^10^14 31^10^14 

166 934 29^8^14$ p?Bkwk wjZbk rbh w;hBhnK 3616 7^10^14 22^10^14 31^10^14 

167 935 29^8^14$ spdhb wbehns NogZbk$344 1002 16^9^14 16^9^14 30^9^14 

168 936 29^8^14$ p?Bkwk sbtzvh r'okfJnk$453 937 5^9^14 22^9^14 30^9^14 

169 937 29^8^14$ ofjB Bkwk NogZbk$344 993 16^9^14 16^9^14 30^9^14 



  


